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[slides 2 and 3  are omitted for this text-based alternative]
Slide 4 - Welcome to intro to math for journalists
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Goal:
To understand and perform basic calculations that:

« Drive story ideas and evidence
« Confirm calculations from sources

« Provide a resource for you to revisit for refreshers on every day math
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Slide notes

Welcome to intro to math for journalists 

At the end of this module, journalism students should be able to: Understand and perform math calculations that often inform and drive news stories. 

Text Captions

Welcome to intro to math for journalists

Goal:

To understand and perform basic calculations that: 

· Drive story ideas and evidence
· Confirm calculations from sources
· Provide a resource for you to revisit for refreshers on every day math

Slide 5 - Comfort with everyday math
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Slide notes

So why math, again? You’ll find it everywhere in daily news and feature reporting. 

Political news often includes polling stories related to elections.

Reports on crime rates relate to how much governments spend on policing. 

Business stories about the fortunes of companies, employers for many Canadians, often involve math.

Text Captions

Comfort with everyday math 

So why math, again?  

You’ll find it everywhere in daily news and feature reporting. 

Political news often includes polling stories related to elections.

Reports on crime rates relate to how much governments spend on policing. 

Business stories about the fortunes of companies, employers for many Canadians, often involve math. 
[news clipping of Lululemon’s international growth]
Slide 6 - Comfort with everyday math
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Slide notes

Journalists need to feel comfortable with basic math, sometimes to explore the numbers in reports for story ideas, sometimes to develop good questions for their authors. 

Text Captions

Comfort with everyday math 

Slide 7 - Make Your Selection
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Slide notes

This module provides lessons and scored quizzes in percentages and statistics. 

Text Captions

Comfort with everyday math 

The two areas of mathematics that journalists encounter most often are: 

1) Percents 

2) Statistics and Probability. 

Slide 8 - Percentages
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Slide notes

In the percentages section, you’ll understand these concepts:

Percentage points, Percentage change, and Percentage totals.

Slide 9 - Percentages Lesson 1
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Slide notes

Journalists need to know the difference between percentage points, percentage change and percentage total that are related by subject matter

Let’s take a look at each concept. 

Percentage points is the difference between the two percentages. Take the new percent subtract the original percentage.

Percentage change is also known as percent increase or percent decrease. 

To find percent increase or decrease, take the new value and subtract the old value, divide it by the old value and multiply it by 100

Percentage total is the same as the concept of general percent.  It is looking at the concept of part divided by whole is equal to a number divided by 100.

Let’s apply these concepts to two unscored quiz questions.

Text Captions

Percentages Lesson 1

Percentage points is the difference between the two percentages.

Percentage Points = Percent  2  -  Percent  1

Percentage change is also known as percent increase or percent decrease.

Percent Increase or Decrease =  ((Percent 2  - Percent 1) / Percent 1) x 100 OR = ((new value – old value) / old value) x 100
Percentage total is the same as the concept of general percent.
Part/whole = x/100
Slide 10 - Question - Mayoral Race
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A news release by a pollster called Forum Research during the Toronto mayoral election in
2014 showed John Tory had 43 per cent support. The previous week, he had 39 per cent.

Comparing the week-to-week change, the poll indicates:

A. Tory’s support increased by four percentage points.
B. Tory’s support increased by four per cent.
C. Both

Q Percentage Points = Percent, — Percent,





Slide notes

Please read the question and select your answer.

Watch the video for the solution to the question. 

Text Captions

Question - Mayoral Race

A news release by a pollster called Forum Research during the Toronto mayoral election in 2014 showed John Tory had 43 per cent support. The previous week, he had 39 per cent.

Comparing the week-to-week change, the poll indicates: 

a) Tory’s support increased by four percentage points.

b) Tory’s support increased by four per cent.

c) Both

Advance to the next slide to input answer.

HINT: Percentage Points = Percent2 – Percent1

Slide 11 - Question - Mayoral Race
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Slide notes

Text Captions

Question - Mayoral Race

A news release by a pollster called Forum Research during the Toronto mayoral election in 2014 showed John Tory had 43 per cent support. The previous week, he had 39 per cent.

Comparing the week-to-week change, the poll indicates: 

A) Tory’s support increased by four percentage points.

B) Tory’s support increased by four per cent.

C) Both

Slide 12 - Solution - Mayoral Race

[image: image10.jpg]Solution - Mayoral Race
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Slide notes

The correct answer is A “Tory’s support increased by four percentage points.”

Let’s take a closer look at how we arrive at this answer.  

The question is asking students to do a comparison of percentage points versus percentage change.

To calculate percentage points, take the second percent, 43 minus the original percent, 39 and the answer comes to 4. 

 Therefore, Tory’s support increased by four percentage points.

To calculate percentage change, take the percentage points, 4,   

divide it by the original percentage 39 and then multiply it by 100.  The answer comes to 10%.

Therefore, Tory’s support actually increased by 10% rather than the 4% as one of the solutions suggested.

Now let’s take a look at another unscored quiz example.

Slide 13 - Question - Candidate Ages
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Slide notes

In this second example, we'll look at the concept of percentage total.

Please read the question and select your answer.

Text Captions

Question - Candidate Ages

In the table below, you’ll see the ages of participants in the same mayoral race poll.

What is the percentage of the poll participants who were between the ages of 18 and 34?

Advance to the next slide to input answer.

	
	Total
	18-34
	35-44
	45-54
	55-64
	65+
	Male
	Female

	Sample Size
	847
	130
	119
	179
	195
	227
	436
	411

	Doug Ford
	29
	31
	28
	29
	27
	29
	33
	25

	John Tory
	43
	33
	43
	46
	52
	53
	46
	41

	Olivia Chow
	25
	33
	26
	21
	20
	16
	19
	30

	Other Candidates
	3
	3
	2
	4
	1
	2
	2
	3


Hint: part/whole = x/100

Slide 14 - Question - Candidate Ages
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Slide notes

Text Captions

Question - Candidate Ages

What is the percentage of the poll participants who were between the ages of 18 and 34?

A) 30%

B) 60%

C) 15%

Slide 15 - Answer - Candidate Ages 
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Slide notes

 If you recall, percentage total is a comparison of part over whole equals a percent.

The “part” in this case is the number of people between the ages of 18-34, which is 130.

The “whole” is the total sample size, which is 847.

Therefore, if you take 130 divided by 847 equals x over 100

move the 100 to the other side of the equation, and it becomes 130 over 847 times 100 and that will give you 15 percent

Text Captions

What is the percentage of the poll participants who were between the ages of 18 and 34?        

1. Part/whole = x/100

2. 130/847 = x/100

3. x=130/847x100

4. x=15%
Slide 16 - Question - Jamila

[image: image14.jpg]Question - Jamila

You are writing a story about retail workers. Jamila tells you that she gets paid $11.50 per
hour plus a commission of 3.1 per cent on the clothes that she sells. Jamila works 16 hours
a week and sells about $2,620 worth of clothes on average.

‘Your editor wants you to include the total amount she is paid per week in the article. How
much is Jamila’s weekly pay?

Advance to the next slide to input answer.

.—! Total Pay = Regular Pay + Commission

Hint




Slide notes

Please calculate the answer to the question and choose the correct answer. 

Text Captions

Question - Jamila

You are writing a story about retail workers. Jamila tells you that she gets paid $11.50 per hour plus a commission of 3.1 per cent on the clothes that she sells. Jamila works 16 hours a week and sells about $2,620 worth of clothes on average. 

Your editor wants you to include the total amount she is paid per week in the article. How much is Jamila’s weekly pay? 

Advance to the next slide to input answer.

Hint: Total Pay = Regular Pay + Commission

Slide 17 - Question - Jamila

[image: image15.jpg]uestion - Jamila

You are writing a story about retail workers. Jamila tells you that she gets paid
$11.50 per hour plus a commission of 3.1 per cent on the clothes that she sells.
Jamila works 16 hours a week and sells about $2,620 worth of clothes on average.

Your editor wants you to include the total amount she is paid per week in the article.
How much is Jamila’s weekly pay?

A) 250.22

B) 255.22

C) 260.22
* D)265.22

E) 270.22

Back Submit




Slide notes

Text Captions

Question - Jamila

You are writing a story about retail workers. Jamila tells you that she gets paid $11.50 per hour plus a commission of 3.1 per cent on the clothes that she sells. Jamila works 16 hours a week and sells about $2,620 worth of clothes on average. 

Your editor wants you to include the total amount she is paid per week in the article. How much is Jamila’s weekly pay? 

A) 250.22   

B) 255.22

C) 260.22

D) 265.22

E) 270.22

Slide 18 - Video Solution - Jamila

[image: image16.jpg]Watch the video for the solution to the question.
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Slide notes

Watch the video for the solution to the question. 
Math for Journalists: Percents - Solution to Lesson 3
Slide 19 - Question - Zoning

[image: image17.jpg]Question - Zoning

You are covering a zoning press conference. They say a building is 150 meters
tall, which is 75 per cent of the height restriction bylaw.

What is the height of bylaw restriction in meters?

Advance to the next slide to input answer.

O _part __x

whole ~ 100

Remember that the building is 75% of the full height restriction. The bylaw is taller, or 100% of
the answer.

Hint




Slide notes

Please calculate the answer to the question and choose the correct answer. 

Text Captions

Question - Zoning

You are covering a zoning press conference. They say a building is 150 meters tall, which is 75 per cent of the height restriction bylaw. 

What is the height of bylaw restriction in meters?

Advance to the next slide to input answer.

HINT:
   Part/whole = x/100
Remember that the building is 75% of the full height restriction. The bylaw is taller, or 100% of the answer. 

Slide 20 - Question - Zoning
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You are covering a zoning press conference. They say a building is 150
meters tall, which is 75 per cent of the height restriction bylaw.

What is the height of bylaw restriction in meters?

A)105m
B)125m
C)175m

> D)225cm

> E)200m
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Slide notes

Text Captions

Question - Zoning

You are covering a zoning press conference. They say a building is 150 meters tall, which is 75 per cent of the height restriction bylaw. 

What is the height of bylaw restriction in meters?

A) 105 m  

B) 125 m

C) 175 m

D) 225 cm

E) 200 m

Slide 21 - Video Solution - Zoning

[image: image19.jpg]Watch the video for the solution to the question.
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Slide notes

Watch the video for the solution to the question. 

Math for Journalists: Percents - Solution to Lesson 4
Slide 22 - Question - High School Math

[image: image20.jpg]Question - High School Math

‘You are writing a story about high school math success and failure rates for a regional
website.

You are told that 10 per cent of all students completed the school year with 60%, 20% per

cent submitted a mark of around 70%, and that 65% per cent submitted a mark of 80. The
remaining 5 per cent had a mark of 90.

Using the data in this chart, determine the percentage of students overall who are returning
with a clear standing.

Advance to the next slide to input answer.
Percentage success in 1st year
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Slide notes

Please calculate the answer to the question and choose the correct answer. 

Text Captions

Question - High School Math

You are writing a story about high school math success and failure rates for a regional website.

You are told that 10 per cent of all students completed the school year with 60%, 20% per cent submitted a mark of around 70%, and that 65% per cent submitted a mark of 80. The remaining 5 per cent had a mark of 90. 

Using the data in this chart, determine the percentage of students overall who are returning with a clear standing.

[Image of chart showing Percentage success in 1st year.

The data represents:

10 per cent of all students completed the school year with 60%, 20% per cent submitted a mark of around 70%, and that 65% per cent submitted a mark of 80. The remaining 5 per cent had a mark of 90.]
Advance to the next slide to input answer.

Hint: Total % with good standing = (% with grade1    % clear standing of grade1) +

    
(% of grade2   % clear standing of grade2) + (% of grade3   % clear standing  of grade3)+... 

Slide 23 - Question - High School Math

[image: image21.jpg]uestion - High School Math

You are writing a story about high school math success and failure rates for a
regional website.

You are told that 10 per cent of all students completed the school year with 60%, 20%
per cent submitted a mark of around 70%, and that 65% per cent submitted a mark of
80. The remaining 5 per cent had a mark of 90.

Determine the percentage of students overall who are returning with a clear standing.
A) 66
B) 69
s C)73
D) 77
E)81
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Slide notes

Text Captions

Question - High School Math

You are writing a story about high school math success and failure rates for a regional website.

You are told that 10 per cent of all students completed the school year with 60%, 20% per cent submitted a mark of around 70%, and that 65% per cent submitted a mark of 80. The remaining 5 per cent had a mark of 90. 

Determine the percentage of students overall who are returning with a clear standing.

A) 66  

B) 69

C) 73

D) 77

E) 81

Slide 24 - Video Solution- High School Math

[image: image22.jpg]Watch the video for the solution to the question.

You([TD

Preview using F11, F12 or publish to a Webserver to view
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Slide notes

Watch the video for the solution to the question.

Math for Journalists: Percents - Solution to Lesson 5
Slide 25 - Question - Air Canada

[image: image23.jpg]Question - Air Canada

Air Canada has increased the cost for checking baggage, and your editor has told you to
cover the change for a story about consumer reaction. For the article you need to know
some details. It now costs $120 for excess baggage. Air Canada is offering a 20 per cent
discount, but the airline is also adding a percentage back as a fuel surcharge.

If final cost after fuel surcharge is $110.40, find the percent added for the fuel surcharge.

Advance to the next slide to input answer.

Q Discounted price = original price (1-%/100)

Final price with percent increase = original price (1+%/100)

Hint




Slide notes

Please calculate the answer to the question and choose the correct answer. 

Text Captions

Question - Air Canada

Air Canada has increased the cost for checking baggage, and your editor has told you to cover the change for a story about consumer reaction. For the article you need to know some details.  It now costs $120 for excess baggage. Air Canada is offering a 20 per cent discount, but the airline is also adding a percentage back as a fuel surcharge. 

If final cost after fuel surcharge is $110.40, find the percent added for the fuel surcharge.

Advance to the next slide to input answer.

Hint: Discounted price = original price (1-%/100)

Final price with percent increase = original price (1+%/100)

Slide 26 - Question - Air Canada

[image: image24.jpg]uestion - Air Canada

Air Canada has increased the cost for checking baggage, and your editor has told
you to cover the change for a story about consumer reaction. For the article you
need to know some details. It now costs $120 for excess baggage. Air Canada is
offering a 20 per cent discount, but the airline is also adding a percentage back as a
fuel surcharge.

If final cost after fuel surcharge is $110.40, find the percent added for the fuel
surcharge.

© A)15%
B) 13%
C) 1%
D) 9%
E) 7%

Back Submit




Slide notes

Text Captions

Question - Air Canada

Air Canada has increased the cost for checking baggage, and your editor has told you to cover the change for a story about consumer reaction. For the article you need to know some details.  It now costs $120 for excess baggage. Air Canada is offering a 20 per cent discount, but the airline is also adding a percentage back as a fuel surcharge. 

If final cost after fuel surcharge is $110.40, find the percent added for the fuel surcharge. 

A) 15%   

B) 13%

C) 11%

D) 9%

E) 7%

Slide 27 - Video Solution - Air Canada

[image: image25.jpg]Watch the video for the solution to the question.
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Preview using F11, F12 or publish to a Webserver to view

https://www.youtube.com/watch?v=izx8YEPHg08&list=PL
AImK_PQ9xUd7]Vp-JRbe7put5zQYEUUO&index=39





Slide notes

Watch the video for the solution to the question.

 Math for Journalists: Percents - Solution to Lesson 6
Slide 28 - Concept #3 Video Solution

[image: image26.jpg]Conclusion

You've reached the end of the percentages module.

Select to continue




Slide notes

Conclusion

You’ve reached the end of the percentages module. 

Slide 29 - Welcome to Probability & Statistics

[image: image27.jpg]Welcome to Probability & Statistics
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Slide notes

Probability and statistics for journalists

In this section, you’ll understand these concepts:

Probability, Conditional Probability, Combining probabilities, Probability under the curve, and Finding Mean.

Slide 30 - Probability & Statistics
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Slide notes

Probability is the likelihood of something happening.

The classic example is the likelihood of a coin toss falling on heads. 

We know intuitively that it’s 50%. 

The histogram visualizes the distribution of a coin toss experiment.  [image of histogram]
We can clearly see that the mean is centering around 50%. 

Probability and statistics can of course get much more complicated than that. 

Slide 31 - Smoking Study
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Slide notes

You may be asking: what on earth does probability have to do with journalism? 

Take for example this study on the relationship between smoking and personal wealth.  [image of screenshot of news article]
Journalists may never have to make the statistical calculations themselves 

but it’s critical they understand what concepts researchers use as evidence. 

It is about understanding. 

Slide 32 - Methodology

[image: image30.jpg]Methodology

Statistical Analysis
We specified three analyses corresponding to the aims of the study. First, we used logistic
regression to compare acceptance of the interventions, adjusting for the two variables according to
which the randemization was stratified.2” Second, we conducied intention-to-ireat analyses using
logistic regression to compare the effectiveness of incentive programs among all randomly assigned
participants. Third, we compared the efficacy of the interventions. We first conducted traditional
per-protocol analyses, comparing groups of participants who accepted different interventions.
However, because such analyses are subject to selection biases,3' our primary approach to
measure efficacy modeled the randomizaion group as an instrumental variable®23% j

in analyses of
the complier average treatment effect. 36 These analyses, described in detail in the
Supplementary Appendix, used data on all randomly assigned participants to estimate treatment
effects for participants who would have accepted each intervention.

‘We estimated that a sample of 2185 participants would provide 80% power to detect absolute «
differences of at least 7.5 percentage points in the rate of sustained abstinence between any one of
the three novel incentive programs and the individual-reward program. Details of this calculation are
provided in the Supplementary Appendix.




Slide notes

The calculations are what make the studies valid scientifically. 

For example, the smoking study describes its statistical method here. 

And critically, if studies do not employ evidence such as this, it is important to recognize that. 

Slide 33 - Bloomberg article
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Slide notes

Finally, you can see here this scientific article was translated into journalism by an author at Bloomberg News. [image of a scientific article]
So let’s begin by having a general overview of the concepts.

Slide 34 - Welcome to Probability & Statistics

[image: image32.jpg]Welcome to Probability & Statistics
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Slide notes

Probability of an event A happening is equal to the number of times event A is happening divided by the total sample size of the experiment.

Probability of event A and B happening is equal to the number of times event A and B happening concurrently divided by the total sample size.

Probability of event A or B happening is equal to event A happening 

plus event B happening subtract the cases where we have double counted, then divide by the total sample size.

Conditional probability of event A given B has happened is equal to event A and B happened concurrently divided by the number of times event B happening.

Mean is the same as finding the average.  Take the sum of all the terms divided by the number of terms.

Let’s apply these concepts to a few examples.

Text Captions

Welcome to Probability & Statistics

P(an event A happening) = n(event A happening)/n(sample size)

P(an event A & B happening) = n(event A and B happening concurrently)/n(sample size)

P(an event A or B happening) = n(A) + n(B) - n(A and B)/n(sample size)

Conditional Probability: P(A/B) = n(A and B)/n(B)

Slide 35 - Question - Cell Phone Owner

[image: image33.jpg]Question - Cell Phone Owner

Pollsters nowadays contact people with both landlines and cellphones.

Using the data in this chart, if a person is selected at randol hose polled, determine
the probability that:

A cell phone owner is selected:

Advance to the next slide to input answer.

Cellphone No Cellphone Total
Owner (landline owner)
Under 25 600 100
25 or over 260 320
Total
Q P(Cell phone owner) = # cellphone users
= Total number surveyed

Hint




Slide notes

Please read the question, and select your answer.

Text Captions

Question - Cell Phone Owner

Pollsters nowadays contact people with both landlines and cellphones.

Using the data in this chart, if a person is selected at random from those polled, determine the probability that:

A cell phone owner is selected: 

	
	Cellphone Owner
	No Cellphone (landline owner)
	Total

	Under 25
	600
	100
	

	25 or over
	260
	320
	

	Total
	
	
	


Advance to the next slide to input answer.

HINT: P(Cell phone owner) = # cellphone users/Total number surveyed

Slide 36 - Question - Cell Phone Owner

[image: image34.jpg]uestion - Cell Phone Owner

Pollsters nowadays contact people with both landlines and cellphones.

If a person is selected at random from those polled, determine the probability that:

A cell phone owner is selected:

A) 60.1%
B) 62.5%
© C)67.2%
D)70.3%
E) 70.2%

Back Submit




Slide notes

Text Captions

Question - Cell Phone Owner

Pollsters nowadays contact people with both landlines and cellphones.

If a person is selected at random from those polled, determine the probability that:

A cell phone owner is selected:

A) 60.1% 

B) 62.5%

C) 67.2%
D) 70.3%

E) 70.2%

Slide 37 - Answer Cell Phone Owner 

[image: image35.jpg]nswer - Cell Phone Owner

The correct answer is C 67.2%

# cellphone users _ 860
Total number surveyed ~ 1280

Cellphone Owner | No Cellphone Total
(Iandllne owner)

Under 25 | 100 [ 700 |

1280





Slide notes

The correct answer is C, 67.2%

Probability of cellphone owner is equal to the number of cellphone owner divided the number of people surveyed.

According to the chart, the total number of cellphone owner is 860.

And the number of people surveyed is 1280.

Take 860 and divided it by 1280 and multiply it by 100 will give us 67.2%
	
	Cellphone Owner
	No Cellphone (landline owner)
	Total

	Under 25
	600
	100
	700

	25 or over
	260
	320
	580

	Total
	860
	420
	1280


Text Captions

Answer - Cell Phone Owner 

The correct answer is C 67.2%

# cellphone users / Total number surveyed = 860 / 1280 

Slide 38 - Question - User Age

[image: image36.jpg]Question - User Age

Pollsters nowadays contact people with both landlines and cellphones.
Using the data in this chart, if a person is selected at random

those polled, determine
the probability that:
A person under 25 and a cellphone user is selected:

Advance to the next slide to input answer.

Cellphone No Cellphone Total
Owner (landline owner)
Under 25 600 100
25 or over 260 320
Total

Q P(a person under 25 and a cellphone user) = under 25 and a cellphone user
- Total number surveyed

Hint




Slide notes

Please read the question, and select your answer.

Text Captions

Question - User Age

Pollsters nowadays contact people with both landlines and cellphones. 

Using the data in this chart, if a person is selected at random from those polled, determine the probability that:

A person under 25 and a cellphone user is selected: 

	
	Cellphone Owner
	No Cellphone (landline owner)
	Total

	Under 25
	600
	100
	

	25 or over
	260
	320
	

	Total
	
	
	


Advance to the next slide to input answer.

HINT: P(a person under 25 and a cellphone user) = under 25 and a cellphone user / Total number surveyed

Slide 39 - Question - User Age

[image: image37.jpg]uestion -

Pollsters nowadays contact people with both landlines and cellphones.
If a person is selected at random from those polled, determine the probability that:

A person under 25 and a cellphone user is selected:

© A)46.9%
B) 48.3%
C)50.1%
D) 53.4%
E) 55.2%

Back Submit




Slide notes

Text Captions

Question - User Age

Pollsters nowadays contact people with both landlines and cellphones.

If a person is selected at random from those polled, determine the probability that:

A person under 25 and a cellphone user is selected:

A) 46.9%

B) 48.3%

C) 50.1%

D) 53.4%

E) 55.2%

Slide 40 - Answer - User Age

[image: image38.jpg]nswer - User Age

The correct answer is A 46.9%

A person under 25 and a cellphone user _ 600
Total number surveyed 1280

Cellphone Owner | No Cellphone Total
(landline owner)

Under2s | 600 | 100 | 700 |

1280





Slide notes

Text Captions

Answer - User Age

The correct answer is A 46.9%

A person under 25 and a cellphone user / Total Number surveyed =  600 / 1280
	
	Cellphone Owner
	No Cellphone (landline owner)
	Total

	Under 25
	600
	100
	700

	25 or over
	260
	320
	580

	Total
	860
	420
	1280


Slide 41 - Question - Age Over 25

[image: image39.jpg]Question - Age Over 25

Pollsters nowadays contact people with both landlines and cellphones.

Using the data in this chart, if a person is selected at randol hose polled, determine
the probability that:

A person over 25 or a cellphone owner:

Advance to the next slide to input answer.

Cellphone | Na Collphone Total
Owner (landline owner)
Under 25 600 100
25 or over 260 320

Total

Q Think about who is not included. Or, look for cellphone users under 25, over 25 and
= non-cellphone users over 25.

Hint




Slide notes

Please read the question, and select your answer.

Text Captions

Question - Age Over 25

Pollsters nowadays contact people with both landlines and cellphones. 

Using the data in this chart, if a person is selected at random from those polled, determine the probability that:

A person over 25 or a cellphone owner: 
	
	Cellphone Owner
	No Cellphone (landline owner)
	Total

	Under 25
	600
	100
	

	25 or over
	260
	320
	

	Total
	
	
	


Advance to the next slide to input answer.

HINT: Think about who is not included. Or, look for cellphone users under 25, over 25 and non-cellphone users over 25.

Slide 42 - Question - User Age Over 25

[image: image40.jpg]uestion - User Age Over 25

Pollsters nowadays contact people with both landlines and cellphones.
See the chart below and answer the following questions.
If a person is selected at random from those polled, determine the probability that:

A person over 25 or a cellphone owner:

A) 87.2%
B)89.1%
s C)922%
D)93.7%
E) 96.1%

Back Submit




Slide notes

Text Captions

Question - User Age Over 25

Pollsters nowadays contact people with both landlines and cellphones. 

See the chart below and answer the following questions.

If a person is selected at random from those polled, determine the probability that:

A person over 25 or a cellphone owner:

A) 87.2%

B) 89.1%

C) 92.2%
D) 93.7%

E) 96.1%

Slide 43 - Answer - User Age Over 25 

[image: image41.jpg]nswer - User Age Over 25

The correct answer is C 92.2%

Direct method: 600 + 260 +320 _ 1180 _92.2%
1280 " 1280

Indirect method solution: 1280 - 100 _92.2%
1280

Cellphone Owner | No Cellphone Total
(Iandllne owner)

Under 25 [ 100 [ 700 ]

1280





Slide notes

Text Captions

Answer - User Age Over 25 

The correct answer is C 92.2%

Direct method: 600 + 260 +320 / 1280 = 1180 / 1280 = 92.2%

Indirect method solution: 1280 - 100 / 1280 = 92.2%

	
	Cellphone Owner
	No Cellphone (landline owner)
	Total

	Under 25
	600
	100
	700

	25 or over
	260
	320
	580

	Total
	860
	420
	1280


Slide 44 - Question - Landline Owner

[image: image42.jpg]Question - Landline Owner

Pollsters nowadays contact people with both landlines and cellphones.

Using the data in this chart, if a person is selected at randol hose polled, determine
the probability that:

The person is older than 25, given that she or he is a landline owner:

Advance to the next slide to input answer.

Cellphonc Na Cellphone Total
Owner (landline owner)
Under 25 600 100
25 or over 260 320
Total
Q # of people who are landline owners and older than 25

# of landline owners

Hint




Slide notes

Text Captions

Question - Landline Owner

Pollsters nowadays contact people with both landlines and cellphones. 

Using the data in this chart, if a person is selected at random from those polled, determine the probability that:

The person is older than 25, given that she or he is a landline owner: 

	
	Cellphone Owner
	No Cellphone (landline owner)
	Total

	Under 25
	600
	100
	

	25 or over
	260
	320
	

	Total
	
	
	


Advance to the next slide to input answer.

HINT: # of people who are landline owners and older than 25 / # of landline owners

Slide 45 - Question - Landline Owner

[image: image43.jpg]uestion - Landline Owner

Pollsters nowadays contact people with both landlines and cellphones.
If a person is selected at random from those polled, determine the probability that:

The person is older than 25, given that she or he is a landline owner.

A)70.2%
B) 71.8%
C)73.4%
D) 75.5%

© E)762%

Back Submit




Slide notes

Please read the question, and select your answer.

Text Captions

Question - Landline Owner

Pollsters nowadays contact people with both landlines and cellphones. 

If a person is selected at random from those polled, determine the probability that:

The person is older than 25, given that she or he is a landline owner.

A) 70.2%

B) 71.8%
C) 73.4%
D) 75.5%

E) 76.2%

Slide 46 - Answer - Landline Owner

[image: image44.jpg]Answer - Landline Owner

The correct answer is E 76.2%

# of people who are landline owners and older than 25 _ 320 _ 76.2%
# landline owners 420

Cellphone Owner | No Cellphone Total
(Iandllne owner)

Under 25 [ 100 [ 700 ]

1280





Slide notes

Text Captions

Answer - Landline Owner

The correct answer is E 76.2%

# of people who are landline owners and older than 25 / # landline owners =   320 / 420 = 76.2%

	
	Cellphone Owner
	No Cellphone (landline owner)
	Total

	Under 25
	600
	100
	700

	25 or over
	260
	320
	580

	Total
	860
	420
	1280


Slide 47 - Question - Rising Gas Prices

[image: image45.jpg]Question - Rising Gas Prices

Gas prices are rising. Your editor wants you to write about how this affecting car owners.

The local car owners association gives you the following graph.
Find the mean kilometers per litre used overall.

Advance to the next slide to input answer.

Histogram for Gasoline Usage
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Q 1. find the midpoint of each range
- 2. total number of km driven
sum of frequencies

Hint




Slide notes

Text Captions

Question - Rising Gas Prices

Gas prices are rising. Your editor wants you to write about how this affecting car owners. 

The local car owners association gives you the following graph.

Find the mean kilometers per litre used overall.  

Histogram for Gasoline Usage

	Cars: km driven per Litre of gasoline
	Frequency

	1-3
	20

	4-6
	50

	7-9
	80

	10-12
	120

	13-15
	100

	16-18
	30


Advance to the next slide to input answer.

HINT:
1. find the midpoint of each range
2. total number of km driven / sum of frequencies

Slide 48 - Question - Rising Gas Prices

[image: image46.jpg]uestion - Rising Gas Prices

Gas prices are rising. Your editor wants you to write about how this affecting car
owners.

The local car owners association gives you the following graph.

Find the mean kilometers per litre used overall.

o A)100
> B)104
> C)108
o D)11.2
© E)116

Incorrect
Sorry! Click on the hint button and try answering the question again

Click anywhere or press ‘y’ to continue.

Back Submit




Slide notes

Text Captions

Question - Rising Gas Prices

Gas prices are rising. Your editor wants you to write about how this affecting car owners. 

The local car owners association gives you the following graph.

Find the mean kilometers per litre used overall. 

A) 10.0

B) 10.4

C) 10.8
D) 11.2
E) 11.6

Slide 49 - Answer - Rising Gas Prices

[image: image47.jpg]Answer - Rising Gas Prices

The correct answer is B, 10.4

Total kms driven = (2)(20)+5(50)+8(80)+11(120)+14(100)+17(30
Sum frequencies 20+50+80+120+100+30 = 10.4

Histogram for Gasoline Usage
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Slide notes

Text Captions

Answer - Rising Gas Prices

The correct answer is B, 10.4

Total kms driven/sum frequencies  =  (2)(20)+5(50)+8(80)+11(120)+14(100)+17(30) /20+50+80+120+100+30 = 10.4




	Cars: km driven per Litre of gasoline
	Frequency

	1-3
	20

	4-6
	50

	7-9
	80

	10-12
	120

	13-15
	100

	16-18
	30


Slide 50 - Question - Rain Fall

[image: image48.jpg]Question - Rain Fall

It's been a rainy fall and your editor wants you to write a quick weather web hit.

The local environment info centre has given you some historical data on November

precipitation. Using the graph below (where the x-axis represents monthly rainfall in
November in your town).

What is the chance that it rains more than 1.7 cms in November?

Advance to the next slide to input answer.

O 095 11 125 14 155 17 185

The sum of the area under the curve is 100%

HiNt




Slide notes

Text Captions

Question - Rain Fall

It’s been a rainy fall and your editor wants you to write a quick weather web hit. 

The local environment info centre has given you some historical data on November precipitation. Using the graph below (where the x-axis represents monthly rainfall in November in your town).

What is the chance that it rains more than 1.7 cms in November?  

[Parabola of Historical November precipitation: 1.1cms-1.7cms = 95%]
Advance to the next slide to input answer.

HINT: The sum of the area under the curve is 100%

Slide 51 - Question - Rain Fall

[image: image49.jpg]uestion - Rain Fall

It's been a rainy fall and your editor wants you to write a quick weather web hit.

The local environment info centre has given you some historical data on November
precipitation.

What is the chance that it rains more than 1.7 cms in November?

A) 5%
B) 95%
C)97.5%

© D)25%
E) 90%

Back Submit




Slide notes

Text Captions

Question - Rain Fall

It’s been a rainy fall and your editor wants you to write a quick weather web hit. 

The local environment info centre has given you some historical data on November precipitation. 

What is the chance that it rains more than 1.7 cms in November? 

A) 5%

B) 95%

C) 97.5%

D) 2.5%

E) 90%

Slide 52 - Answer - Rain Fall

[image: image50.jpg]wer - Rain Fall

The correct answer is C 2.5%

P(Rain greater than 1.7cms) = 100-95 = 2.5%
2

095 11 125 14 155 17 185




Slide notes

Text Captions

Answer - Rain Fall

The correct answer is C 2.5%

P(Rain greater than 1.7cms) = 100-95/2 = 2.5%

[Parabola of Historical November precipitation: 1.1cms-1.7cms = 95%]
Slide 53 - Question - Coin Toss

[image: image51.jpg]In tossing two coins what is the probability of getting two heads?

)

Use a “Tree Diagram”





Slide notes

Please read the question, and select your answer.

Text Captions

Question - Coin Toss

In tossing two coins what is the probability of getting two heads?  

Advance to the next slide to input answer.

HINT: Use a “Tree Diagram”

Slide 54 - Question - Coin Toss

[image: image52.jpg]In tossing two coins what is the probability of getting two heads?

o A2
° B)1/3
e C)1/4
° D)5

Review Area

Review Area

Sorry! Click on the hint button;nd m; answering the question again

Click anywhere or press ‘y’ to continue.
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Slide notes

Please read the question, and select your answer.

Text Captions

Question - Coin Toss

In tossing two coins what is the probability of getting two heads? 

A) 1/2

B) 1/3

C) 1/4
D) 1/5

Slide 55 - Video Solution - Coin Toss

[image: image53.jpg]Watch the video for the solution to the question.

You([TD

Preview using F11, F12 or publish to a Webserver to view

https://www.youtube.com/watch?v=p_jYpNVrqVw&list=P
LAImK_PQ9xUd7JVp-JRbe7put5zQYEUUO&iIndex=45





Slide notes

Watch the video for the solution to the question. 

Math for Journalists: Probability - Solution to Lesson 1  

Slide 56 - Question - Biology

[image: image54.jpg]Question - Biology

A biologist has discovered that teenage girls grow faster than teenage boys.

In an interview, the biologist indicates the range of growth for a 17-year-old girl is between 5
cm to 8 cm. He then provides you with his data.

Using the graph below, determine the probability that a 17-year-old female grows between 5
cm and 8 cm in one year.

Advance to the next slide to input answer.
Probability

Number of cm grown
O 12345678910

Use the concept of symmetry and that the probability under the curve is 100%

Hint




Slide notes

Text Captions

Question - Biology

A biologist has discovered that teenage girls grow faster than teenage boys.

In an interview, the biologist indicates the range of growth for a 17-year-old girl is between 5 cm to 8 cm.  He then provides you with his data.  

Using the graph below, determine the probability that a 17-year-old female grows between 5 cm and 8 cm in one year. 

[image of Probability graph

22% between 2-5cms

17% between 8-10cms]
Advance to the next slide to input answer.

HINT: Use the concept of symmetry and that the probability under the curve is 100%.

Slide 57 - Question - Biology

[image: image55.jpg]uestion - Biolog

A biologist has discovered that teenage girls grow faster than teenage boys.

In an interview, the biologist indicates the range of growth for a 17-year-old girl is
between 5 cm to 8 cm.

Determine the probability that a 17-year-old female grows between 5 cm and 8 cm in

one year.
A) 56%
B) 66%
C)78%

> D)63%

Back Submit




Slide notes

Please read the question, and select your answer.

Text Captions

Question - Biology

A biologist has discovered that teenage girls grow faster than teenage boys.

In an interview, the biologist indicates the range of growth for a 17-year-old girl is between 5 cm to 8 cm.

Determine the probability that a 17-year-old female grows between 5 cm and 8 cm in one year.

A) 56%

B) 66%
C) 78%
D) 63%

Slide 58 - Video Solution - Biology

[image: image56.jpg]Watch the video for the solution to the question.

You([TD

Preview using F11, F12 or publish to a Webserver to view

https://www.youtube.com/watch?v=7qkAs6eYOII&list=PL
AImK_PQ9xUd7]Vp-JRbe7put5zQYEUUO&index=44





Slide notes

Watch the video for the solution to the question. 

Math for Journalists: Probability - Solution to Lesson 2  

Slide 59 - Question - Spelling Bee

[image: image57.jpg]Question - Spelling Bee

‘You've been asked to cover the national spelling bee, but you’ve missed two of the results.

One of the contestants, Lui, participated in seven rounds of the bee. Each round consisted
of 12 words.

‘You only have the results for the first five rounds.

The results were 9, 5, 7, 9, and 10. You found out the mode was 9 and the mean was 8.

Knowing that the worst result was 5, what are the two missing results?

Advance to the next slide to input answer.

Total Score = Average Score x Total # of Scores

Hint




Slide notes

Text Captions

Question - Spelling Bee

You’ve been asked to cover the national spelling bee, but you’ve missed two of the results. One of the contestants, Lui, participated in seven rounds of the bee. Each round consisted of 12 words.

You only have the results for the first five rounds. 

The results were 9, 5, 7, 9, and 10. You found out the mode was 9 and the mean was 8. 

Knowing that the worst result was 5, what are the two missing results? 

Advance to the next slide to input answer.

HINT: Total Score = Average Score   x  Total # of Scores

Slide 60 - Question - Spelling Bee

[image: image58.jpg]uestion - Spelling Bee

‘You've been asked to cover the national spelling bee, but you've missed two of the
results. One of the contestants, Lui, participated in seven rounds of the bee. Each
round consisted of 12 words.

‘You only have the results for the first five rounds.

The results were 9, 5, 7, 9, and 10. You found out the mode was 9 and the mean
was 8.
Knowing that the worst result was 5, what are the two missing results?
A) 6 and 10
o B)5and 9
¢ C)7and9
D)6and 7
E)7and 8

Back Submit




Slide notes

Please read the question, and select your answer.

Text Captions

Question - Spelling Bee

You’ve been asked to cover the national spelling bee, but you’ve missed two of the results. One of the contestants, Lui, participated in seven rounds of the bee. Each round consisted of 12 words.

You only have the results for the first five rounds. 

The results were 9, 5, 7, 9, and 10. You found out the mode was 9 and the mean was 8. 

Knowing that the worst result was 5, what are the two missing results? 

A) 6 and 10

B) 5 and 9

C) 7 and 9
D) 6 and 7

E) 7 and 8

Slide 61 - Video Solution - Spelling Bee

[image: image59.jpg]Watch the video for the solution to the question.

You([TD

Preview using F11, F12 or publish to a Webserver to view

https://www.youtube.com/watch?v=Vslq8XKB_aU&list=P
LAImK_PQ9xUd7JVp-JRbe7put5zQYEUUO&iIndex=43





Slide notes

Math for Journalists: Probability - Solution to Lesson 3  

Slide 62 - Conclusion - Statistics

[image: image60.jpg]Conclusion

You've reached the end of the statistics module.

Select to continue




Slide notes

Congratulations! You have completed introduction for math for journalists

Slide 63 - Final Quiz

[image: image61.jpg]Ready to take the quiz?
Read the information below first.

The passing score of the quiz is 80%. You have two opportunities to retake the quiz if
you do not pass initially.

Now would be a good time to review any of the lessons prior to starting the quiz. Use
the table of contents to jump directly to any sections for review, or use the button below
to review each secton as needed.

Once you have completed the quiz, you can use the “Review Quiz” button to review your
results.

**Note, you cannot retake the quiz once you have reviewed your results.

Select the button below once you are ready to start the quiz.

| want to review I’'m ready for the quiz





Slide notes

Congratulations! You have completed introduction for math for journalists

Text Captions

Final Quiz

Ready to take the quiz?  

Read the information below first.

The passing score of the quiz is 80%. You have two opportunities to retake the quiz if you do not pass initially.

Now would be a good time to review any of the lessons prior to starting the quiz.  Use the table of contents to jump directly to any sections for review, or use the button below to review each section as needed.

Slide 64 - Question - 1

[image: image62.jpg]Question - 1

You've been asked to write al

t the popularity of business programs in Canada. You have
assembled the following data in a table from various universities in Canada. One interesting
lead involves the growth of business majors since 2007.

Using the data in this chart, begin by calculating the percentage of undergraduate students
2007 that were majors.

1800 2196

3322
12000




Slide notes

Please read the question, and select your answer.

Text Captions

Question - 1

You’ve been asked to write about the popularity of business programs in Canada. You have assembled the following data in a table from various universities in Canada. One interesting lead involves the growth of business majors since 2007.

Using the data in this chart, begin by calculating the percentage of undergraduate students in 2007 that were majors. 

	Year
	2007
	2008
	2009
	2010

	Business Majors
	1800
	2196
	
	3322

	Total number of undergraduates
	12000
	
	
	


Advance to the next slide to input answer.

Slide 65 - Question - 1

[image: image63.jpg]You've been asked to write about the popularity of business programs in
Canada. You have assembled the following data in a table from various
universities in Canada.

One interesting leed involves the growth of business majors since 2007.

Begin by calculating the percentage of undergraduate students in 2007 that
were majors.

o A)10%
© B)15%
C) 20%

D) 25%
E) 30%

o O
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Slide notes

Please calculate the answer to the question and choose the correct answer. 

Refer as many times as you need to previous video solutions and lessons.

Text Captions

Question - 1

You’ve been asked to write about the popularity of business programs in Canada. You have assembled the following data in a table from various universities in Canada.

One interesting lead involves the growth of business majors since 2007.

Begin by calculating the percentage of undergraduate students in 2007 that were majors.

A) 10%

B) 15%

C) 20%

D) 25%

E) 30%

The correct answer is B – 15%.

Slide 66 - Question - 2
[image: image64.jpg]Question - 2

From the same table find the percentage increase in the total number of
business majors from 2007 to 2008.

1800 2196 3322
12000




Slide notes

Please read the question, and select your answer.

Text Captions

Question - 2

From the same table find the percentage increase in the total number of business majors from 2007 to 2008. 

	Year
	2007
	2008
	2009
	2010

	Business Majors
	1800
	2196
	
	3322

	Total number of undergraduates
	12000
	
	
	


Advance to the next slide to input answer.

Slide 67 - Question - 2

[image: image65.jpg]uestion

Find the percentage increase in the total number of business majors from
2007 to 2008.

()

A) 30%
B) 28%
C) 26%
D) 24%
© E)22%
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Slide notes

Please calculate the answer to the question and choose the correct answer. 

Refer as many times as you need to previous video solutions and lessons.

Text Captions

Question - 2

Find the percentage increase in the total number of business majors from 2007 to 2008.  

A) 30%

B) 28%

C) 26%

D) 24%

E) 22%

The correct answer is E – 22%.

Slide 68 - Question - 3
[image: image66.jpg]Question - 3

From the same table how many percentage points between 2007 to 2008?

1800 2196 3322
12000




Slide notes

Text Captions

Question - 3

From the same table how many percentage points between 2007 to 2008?  

	Year
	2007
	2008
	2009
	2010

	Business Majors
	1800
	2196
	
	3322

	Total number of undergraduates
	12000
	
	
	


Advance to the next slide to input answer.

Slide 69 - Question - 3

[image: image67.jpg]How many percentage points between 2007 to 2008?

A) 7%
B)37%
C) 26%
o D)24%
E) 22%

6 0 6

[€)

Review Area

Review Area

Back Submit





Slide notes

Please calculate the answer to the question and choose the correct answer. 

Refer as many times as you need to previous video solutions and lessons.

Text Captions

Question - 3

How many percentage points between 2007 to 2008?  

A) 7%

B) 37%

C) 26%

D) 24%

E) 22%

The correct answer is A – 7%.

Slide 70 - Question - 4
[image: image68.jpg]Question - 4

Your editor wants to know how the business majors compared with total
undergraduate students?

If only 8 per cent of the undergraduates were business majors in 2008, find the
total number of undergraduates in 2008.
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Text Captions

Question - 4

Your editor wants to know how the business majors compared with total undergraduate students?

If only 8 per cent of the undergraduates were business majors in 2008, find the total number of undergraduates in 2008.

	Year
	2007
	2008
	2009
	2010

	Business Majors
	1800
	2196
	
	3322

	Total number of undergraduates
	12000
	
	
	


Advance to the next slide to input answer.

Slide 71 - Question - 4

[image: image69.jpg]uestion

Your editor wants to know how the business majors compared with total
undergraduate students?

If only 8 per cent of the undergraduates were business majors in 2008, find the total
number of undergraduates in 2008.

(¢}

A) 27,250
B) 27,350
C) 27,450
D) 27,550
E) 27,650

©o e O

(6]

Review Area

Review Area

Back

Submit





Slide notes

Please calculate the answer to the question and choose the correct answer. 

Refer as many times as you need to previous video solutions and lessons.

Text Captions

Question - 4

Your editor wants to know how the business majors compared with total undergraduate students?

If only 8 per cent of the undergraduates were business majors in 2008, find the total number of undergraduates in 2008.

A) 27,250

B) 27,350

C) 27,450

D) 27,550

E) 27,650

The correct answer is C – 27,450.

Slide 72 - Question - 5
[image: image70.jpg]Question - 5

From the same table find the percentage increase in the total number of business majors
from 2007 to 2008.
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Question - 5

From the same table find the percentage increase in the total number of business majors from 2007 to 2008.  

	Year
	2007
	2008
	2009
	2010

	Business Majors
	1800
	2196
	
	3322

	Total number of undergraduates
	12000
	
	
	


Advance to the next slide to input answer.

Slide 73 - Question - 5

[image: image71.jpg]Your editor wants to know how the business majors compared with total
undergraduate students?

If only 8 per cent of the undergraduates were business majors in 2008, find
the total number of undergraduates in 2008.
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Slide notes

Please calculate the answer to the question and choose the correct answer. 

Refer as many times as you need to previous video solutions and lessons.

Text Captions

Question - 5

Your editor wants to know how the business majors compared with total undergraduate students? 

If only 8 per cent of the undergraduates were business majors in 2008, find the total number of undergraduates in 2008. 

A) 30%

B) 28%

C) 26%

D) 24%

E) 22%

The correct answer is E - 22%.

Slide 74 - Question - 6
[image: image72.jpg]Question - 6

For your final assignment, your editor asks you to do a story about the accuracy of
supermarket pricing based on some studies.

Using the information in the table below, what per cent of the items were incorrectly
priced overall?

Arturo 30% 6%
Betsey 25% 5%
Cliff 40% 4%

Delores 5% 3%
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Text Captions

Question - 6

For your final assignment, your editor asks you to do a story about the accuracy of supermarket pricing based on some studies. 

Using the information in the table below, what per cent of the items were incorrectly priced overall?  

	Person
	% of items priced
	% errors

	Arturo
	30%
	6%

	Betsey
	25%
	5%

	Cliff
	40%
	4%

	Delores
	5%
	3%


Advance to the next slide to input answer.

Slide 75 - Question - 6

[image: image73.jpg]uestion

For your final assignment, your editor asks you to do a story about the
accuracy of supermarket pricing based on some studies.

What per cent of the items were incorrectly priced overall?

o A)42%
o B)4.4%
© C)4.6%
© D)4.8%
o E)5.0%
Review Area
Review Area

Back Submit





Slide notes

Please calculate the answer to the question and choose the correct answer. 

Refer as many times as you need to previous video solutions and lessons.

Text Captions

Question - 6

For your final assignment, your editor asks you to do a story about the accuracy of supermarket pricing based on some studies. 

What per cent of the items were incorrectly priced overall? 

A) 4.2%

B) 4.4%

C) 4.6%

D) 4.8%

E) 5.0%

The correct answer is C – 4.6%

Slide 76 - Question - 7
[image: image74.jpg]In tossing three coins what is the probability of getting a head?
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Slide notes

Please calculate the answer to the question and choose the correct answer. 

Refer as many times as you need to previous video solutions and lessons.

Text Captions

Question - 7

In tossing three coins what is the probability of getting a head? 

A) 1/2

B) 1/8

C) 1/4

D) 1/16

The correct answer is B – 1/8.

Slide 77 - Question - 8
[image: image75.jpg]uestion -

You have done some research for an article on vacation time. Your research has found
the following information given.

In days, the mean was 16 and the median was 18 and there is a single mode (not
bimodal). There were 10 people in the data sample provided. Here is the data sample
but unfortunately two of the 10 pieces of data have been inadvertently erased.

It is known that the minimum number of days of vacation is at least 5 days.

Use this information to determine the values missing denoted by x and y. 24, 12, 24,
15,18, 18,19,5, X,y

o A)12,12
© B)159
o C)168
o D)186
@ E) Cannot be determined
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Slide notes

Please calculate the answer to the question and choose the correct answer. 

Refer as many times as you need to previous video solutions and lessons.

Text Captions

Question - 8

You have done some research for an article on vacation time. Your research has found the following information given.

In days, the mean was 16 and the median was 18 and there is a single mode (not bimodal). There were 10 people in the data sample provided. Here is the data sample but unfortunately two of the 10 pieces of data have been inadvertently erased. 

It is known that the minimum number of days of vacation is at least 5 days.

Use this information to determine the values missing denoted by x and y.     24, 12, 24, 15, 18, 18, 19, 5, x , y

A) 12,12

B) 15,9

C) 16,8

D) 18,6

E) Cannot be determined

The correct answer is E – Cannot be determined.

Slide 78 - Question - 9
[image: image76.jpg]Commuting distances are shown in the histogram shown below: Note that the first column
starts with -0.5 to include 0.

Suppose the price of gas is $1.20 per litre on average and that cars consume 12.5L per
100km driven on average. You are writing an article about the cost of driving.

The mean cost of driving per week (5 days to work and back) by people in this study,
calculated to the nearest cent is?

Advance to the next slide to input answer.
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Question - 9

Commuting distances are shown in the histogram shown below: Note that the first column starts with -0.5 to include 0.

Suppose the price of gas is  $1.20 per litre on average and that cars consume 12.5L per 100km driven on average. You are writing an article about the cost of driving. 

The mean cost of driving per week (5 days to work and back) by people in this study, calculated to the nearest cent is?

	Cars: km driven per Litre of gasoline
	Frequency

	1-3
	20

	4-6
	50

	7-9
	80

	10-12
	120

	13-15
	100

	16-18
	30


Advance to the next slide to input answer.

Slide 79 - Question - 9

[image: image77.jpg]uestion

Suppose the price of gas is $1.20 per litre on average and that cars consume 12.5L
per 100km driven on average.

‘You are writing an article about the cost of driving.

The mean cost of driving per week (5 days to work and back) by people in this study,
calculated to the nearest cent is:

© A)$12.42
© B)$14.25
© C)$15.08
© D)$16.22
E)$17.15
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Slide notes

Please calculate the answer to the question and choose the correct answer. 

Refer as many times as you need to previous video solutions and lessons.

Text Captions

Question - 9

Suppose the price of gas is  $1.20 per litre on average and that cars consume 12.5L per 100km driven on average.

You are writing an article about the cost of driving. 

The mean cost of driving per week (5 days to work and back) by people in this study, calculated to the nearest cent is:

A) $12.42

B) $14.25

C) $15.08

D) $16.22

E) $17.15

The correct answer is C - $15.08.

Slide 80 - Question - 10
[image: image78.jpg]Question - 10

‘You've been given some details by a researcher on the texting habits against
demographic details, like age. You were told it was survey of 100 people.

You realize that you can fill in the missing details in the chart below and that you can find
out some interesting statistics for your article. Determine the probability that a person
texts less than one hour per day, expressed as a percent:

Advance to the next slide to input answer.
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Text Captions

Question - 10

You’ve been given some details by a researcher on the texting habits against demographic details, like age. You were told it was survey of 100 people. 

You realize that you can fill in the missing details in the chart below and that you can find out some interesting statistics for your article. Determine the probability that a person texts less than one hour per day, expressed as a percent: 

Histogram for Commuting Distances
	Distance Ranges in KM
	Frequency

	-0.5 up to 4.5
	1000

	4.5 up to 9.5
	800

	9.5 up to 14.5
	800

	14.5 up to 19.5
	600

	19.5 up to 24.5
	400

	24.5 up to 29.5
	0


Advance to the next slide to input answer.

Slide 81 - Question - 10

[image: image79.jpg]‘You've been given some details by a researcher on the texting habits against
demographic details, like age. You were told it was survey of 100 people.

Determine the probability that a person texts less than one hour per day, expressed
as a percent:
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Slide notes

Please calculate the answer to the question and choose the correct answer. 

Refer as many times as you need to previous video solutions and lessons.

Text Captions

Question - 10

You’ve been given some details by a researcher on the texting habits against demographic details, like age. You were told it was survey of 100 people.

Determine the probability that a person texts less than one hour per day, expressed as a percent:

A) 25%

B) 35%

C) 40%

D) 60%

E) 65%

The correct answer is D – 60%.

Slide 82 - Question - 11
[image: image80.jpg]Question - 11

From the same table, determine the probability that a person selected, at random, texts
for less than 1 hour per day, given that the person is under 40.

Round to the nearest percent.

Advance to the next slide to input answer.
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Question - 11

From the same table, determine the probability that a person selected, at random, texts for less than 1 hour per day, given that the person is under 40.

Round to the nearest percent.

	
	40 years old
	<40 years old
	TOTAL

	Text <1 hour/day
	25
	
	

	Text 1 hour/day
	
	30
	

	Total
	35
	
	100


Advance to the next slide to input answer.

Slide 83 - Question - 11

[image: image81.jpg]From the same table, determine the probability that a person selected, at random,
texts for less than 1 hour per day, given that the person is under 40.

Round to the nearest percent.
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Please calculate the answer to the question and choose the correct answer. 

Refer as many times as you need to previous video solutions and lessons.

Text Captions

Question - 11

From the same table, determine the probability that a person selected, at random, texts for less than 1 hour per day, given that the person is under 40.

Round to the nearest percent.

A) 75%

B) 46%

C) 54%

D) 32%

E) 25%

The correct answer is C – 54%. 
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